oy

SY
DPS Science & Maths
TALENT EXAMINATION
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Time : 2 hws,  Guidelines for the Candidate Totai Marks : 100

1. The paper consisis of four sections -
Physics {20 Questions), Chemistry (20 Questions), Biology (20 Questions) and Mathematics (40 Questions)

2. Al questions are compulsory and camy equal marks. There is no negalive marking. Use of caloutator is not parmitied
Write your Name, School Name and Roll No. clearly on the Answer sheatand do not forget to sign
Thereis only one correct answer hence mark one choice anly.

5. -Answer sheetisgiven onthe last page. Darken your choice with HB Pencil or Blue | Black Ball Point Penanly
For Example :

Q.18 : Inthe water cycle, condensation is the process of
(A) Water vapour cooling down and lurning into a iquid
(B) ice warming up and tuming imoa liquid
(C) Liguid cooling down and uming intoice _
(D) Liquidwarming up and tuming into water vapour. 16 @ @ © O

As the correct answaer is option No. (A), the candidate should darken the circle comesponding o cplion Ko [A)
6. Roughwork should bedone in the blank space provided in the booklet.

| SYLLABUS
Science : Motion, Force and Laws of Motion, Gravitation, Work and Energy, Sound, Matter in Our Surroundings, Is Marter Around
Us Pure, Atoms and Molecules, Structure of Atom, Cell-The Fundamental Unit of Life, Tisues, Diversity in Living Organisms,

Why Do We Fall 1ll, Natural Resources, Improvement in Food Resources

Mathematics : Verbal and Non-verbal Reasoning.

Number System, Polynomials, Co-ordinate Geometry, Linear Equation in Two Varables, Lines and Angles, Tnangies, Circles
Quadrilaterals, Area of Parallelograms and Triangles, Statistics, Probabitity, Ko on’s Formula. Compaing Quantities, Introduction
to Euclid's Geometry, Construction, Surface Areas and Volumes.




1.

PHYSICS

Which of the following graphs represent uniform motion?
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A stone is tied to one end of a string, and is rotated in a horizontal circle whose centre lies at the other
fixed end of the string. If the stone is released during its motion by letting the fixed end free. The path
described by the stone is

{A) Along a straighl line towards the centre of the circle

(B) Along a straight line (radially) away from the centre of the circle

{C) Along a straight line tangential to the circular path

{D) It doesn't change ils path.

A jet engine works on the principle of
(A) Conservation of linear momentum (B) Conservation of kinetic energy
{C) Conservation of angular momentum (D) Conservation of inertia.

In an isolated system

(A) Some external force acts on the system

(B) Velocity of the particles of the syslem doesn'l change

(C) Total momentum remains conserved (D) Ali of these.

A spaceship brings a rock of mass to the earth. On the surface of earth
(A) Mass of rock changes but not the weight (B) Weight of rock changes bul nol the mass
(C) Mass and weight of the rock remain same (D) Bolh mass and weighl of Lhe rock change

A ball thrown up vertically returms to the thrower after 6 seconds. The velocity with which it was
thrown is

(A) 30 m/s (B) 3042 mis (€ -2 s (D) 30 x 2 mis

A cricket ball weighing 100 g and moving with a speed of 20 ms™' 'I-Il'i kes a bat and remains in contact
with it for 0.1 s. The average force exerted by the ball on the bat is
(A) 100 N (B) 40N (C) 20N (D) 1N

;ﬂt liquid is taken in different shaped vessels as shown in the figure,

The vessels are filled with the liquid up to same level. We know that

(i) Pressure is inversely proportional to the area on which force acts.

{il) Pressure depends on the depth of liquid column.

Which vessel will have the highest pressure at the bottom?

(A) 1 (8) 2 (C) 3 (D) 4

@ Class-9




9. Match the items of Column A with the corresponding items of Column B.
Column A Column B
1. Sound waves of frequency less than 20 Hz  (a) 20 Hz to 20,000 Hz
2. Audible range of frequency (b) Wavelength
3. Distance between two successive compressions (c) About 340 m s!
4. Speed of sound waves in air (d) Infrasonic waves
(A) 1-(d); 2-(a); 3-(b); 4-(c) (B) 1-(b); 2-(c); 3-(d); 4-(a)
(C) 1-(a): 2-(b); 3-(c). 4-(d) (D) 1-(c); 2-(d); 3-(a): 4-{b)
10. Which of the following statement is not true regarding circular motion?
(A) The body moves with a uniform speed. (B) The body moves with a variable velocity.
(C) The body has a uniferm acceleration. (D) The body has a uniform velocity.
11. An iron ball and a glass ball of same size are immersed in water. Which of the following statement
is correct?
(A) The weight loss in iron ball is more. (B) The weight loss in glass ball is more.
(C) The buoyant force on iron ball is more. {D) The buoyant force is same on both the balls.
1E c;:mu the correct statement. -
(A) A low pitch sound has high frequency. {(B) A high pilch sound has high frequency.
(C) Soft sound has large amplitude. (D) Louder sound has small amplitude.
13. In the given graph the work done during the ﬂr;t 5 second is ol L
(A) 10 J 15
F(N) 40
(B) 12.5J .
C C '
il E R
(D) 17.5J Hseconds)
14. The velocity of a particle increases from v to v in a time t during which it covers a distance S. If the
particle has a uniform acceleration a, which one of the following equation does not apply lo the motion?
(A) 28 = (v + u)t 8) a="" (C) V= u? - 2aS © S=(u+jat)e
15. Which type of energy conversion taking place when a compressed spring is released?
{A) Molecular energy lo potential energy. (B) Kinetic energy lo potenlial energy.
{C) Potential energy to kinetic energy. (D) Potential energy lo molecular energy.
16. A body thrown vertically up, at the maximum height
{A) The velocity is not zero but acceleration is zero (B) The accaleration is not zero but velocity is zero
(C) Both acceleration and velocily are zero (D) Both acceleration and velocity are nol zero.
17. "X represent the product of the masses of two bodies and F be the force of attraction between the two
bodies, then F varies with X as
& ' b
.‘l‘\
F F i B F
(A) (B) (©) Re (D)
¥ " x . R
18. Pressure at a pointinside a liquid does not depends on

{A) The depth of the point below the surface of the liquid (B) The nature of the liquid
{C) The acceleration due to gravity at that point (D) The shape of the containing vessel.
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19. Three blocks A, B and C of masses 10 kg, 3 kg, and 5 kg respectively are connected by a light inextensible
smooth horizontal plane. If a force of 36 N is applied to the string connected to C.

10 kg 3 kg 5k
T |3 . T3

A > B —* C —=»36N
Theratioof T,and T, is
(A) 10:13 (B) 10:2 (C) 13:10 ) 1:5

20. A sharp knife can cut food much more easily because

(A) It produces a greater pressure an the food (B) Friction between the blade and the food is reduced
(C) It produces a greater force than a blunt knife (D) Its mass is less as the blade is thinner.

R e CHENIE TR s ..

21. Types of solutions in boxes P, Q and R respectively are

P Q R
(A) Suspension Colloidal Solution
(B) Solution Colloidal Suspension
(C) Solution Suspension Colloidal
(D) Suspension ‘Solution Colloidal
22. Match both the columns and select the correct option from the codes given below.
Column | Column 1l
(a) Mercury (i) Acidic oxide
(b) CO, (ii) Liquid metal
(c) Gold (iii) Basic oxide
{d) MgOo {iv) Malleable
(A)  (a) - (i), (b) - (i), {c) - (i), (d)- (iv) (B) (a)- (i), (b)- (1), (c)- (iv), (d) - i)
(C) _(a)-(iv), (b)- (ii), (c)- (i) () - (1) @) (a)- (W), (b)- (i), (c)- (i), (d) - (iv)

23. Consider the following statements :
Assertion (A) : Gun powder is an example of mixture.
Reason (R) : The components of gun powder are not present in a fixed ratio.
Of these statements :
(A) BothAand R are true and R is the correct explanation of A

(B) Both Aand R are true bul R is not the correct explanation of A
(C) Als true bul Ris false
(0) Aisfaise bul R is true,

24, Favourable conditions for evaporation are

. Increase in surface area Il. Increase in temperature
. Increase in humidity IV. Increase In wind speed
(A) land Il only (B) MNand Il only
(C) I 1l and IV (D) 11, 1 and IV

25 -,,l',."' n::..'. Hmt .o S M .QUr
- L]
I ¥ e :

— Salt
The conclusion we can draw from the above experiment is that
(A) Nature of matter is continuous

(B) Matter is made up of particles

(C) Particles of salt get into the spaces between the particles of water
(D) Both (B) and (C)
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26. If 2.5 g of a solute is dissolved in 25 g of water to form a saturated solution at 298 K, the solubility of the
solute is

(A 0.1 (8) 10 (C) 100 (D) 50

27. Choose the correct comparison between solution and suspension.

Solution Suspension
(A) | Homogeneous mﬁi% non-homogeneocus
(B) | Homogeneous ﬁaﬁm by non-homogeneous
(C) | Non-homogeneous mﬁ:ﬂ“ﬁ by homogeneous
(D) | Nen-homogeneous mﬂm by homogeneous

28. Neha sets up an experiment as shown in the figure. —

She Is trying to 3 _Sirip of filter

(A) Check the solubility of ink in water e o

(B) Find out the number of components of ink e

(C) Observe the effect of gravity on the process P w";mc.

(D) Observe absorption of ink on paper O \gpotofink =

29. In the diagram, ﬂrismmoudwmnunplmnm-fmm Pto Q. This is
because air

(A) Is highly compressible

(B) Has particles which are constanlly moving

(C) Has particles which have intermolecular forces
(D} Has particles of negligible mass.

30. The option showing the correct relative mass |;l relative charge of a pmlnn neutron and electron

respectively is
Proton Neutron Electron
rolative mass |r-hlhrl charge| relative mass | relative relative mass |relative charge
(A) 1 +1 1 0 very small -1
(B) 0 +1 0 0 1 0
(C) 1 0 1 0 1 0
()] 1 +1 0 0 very small -1
31. What wnlnht-ﬂ;ym gas will contain the same number of molecules as 56 g of nitrogen gas ?
(A) B4g (B) 329 (C) 569 (O) 289
32. Match both the columns and select the correct option from the codes given below.
Column | (Fuel) Column Il (Uses)
(a) LPG () Paints
(b) Bitumen (if) Ointments
{c) Paraffin wax {iii) Aviation fuel
(d) Petrol (iv) Fuel for home
(A) (@) - (1), (b) - (i}, (e~ {iv), (d) - (i) (B) (a)- (i), (b)- (i), (c) - (W), (d)- (iv)
(C) (a)- (iv), (b} - (), (c) - (). (d) - (i) (©) (8)- (). (b)- (), (€) - (i), () - ().
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33

Statement|: Number of molecules of water in 18 u of water is same as the number of molecules of SO,
in 64 u of SO,.

Statement Il : Number of molecules of water in 18 g of it is same as the number of molecules of
S0, in 18 g of SO,.

(A) Both statements | and |l are true and statement Il is the correct explanation of statement |.
(B) Both statements | and Il are true but statement Il is not the correct explanation of statement |,

(C) Statement | is true bul siatement |l is faise.

(D) Statement | is false but slatement Il is true.

35.

Concentration of a solution, in mass by volume percentage, when 36 g of sodium chloride is dissolved in water
to form 145 mL of solution is .

(A) 248 (8) 329 (C) 0.248 (D) 0329

Li occurs in nature in two isotopic forms with masses 6.015 u and 7.016 u in the ratio 7.42 : 92.58. The
average atomic mass of LI atom is

(A) 694 B) 6.12 ©) 7.12 @) 7.00

36.

3r.

3a.

Statement | : The atoms of different elements having same mass number but different atomic numbers
are known as isobars.
Statement Il : The sum of protons and neutrons in the isobars is always different.

(A) Both statements | and |l are true and statement Il is the correct explanation of statement |,
(B) Both statements | and 1l are true but statement Il is not the correct explanation of statement |
(C) Statement | is true but statement Il is false. (D) Swtement | is false bul statement Il is true.

Solid =—= Liquid == Gas . Which of the following statements is correct?

(A) Conversion of gas to liquid can be done by increasing pressure and lemperature.

(B) Conversion of liquid to solid can be done by increasing temperature and reducing pressure.
(C) Conversion of solid to gas can be done by decreasing lemperature and increasing pressure.
(D) Conversion of liquid to gas can be done by increasing temperature and reducing pressura.

Following are three beakers containing mixtures as given below :

Identify the correct statemant.

(A) (X)and (Z) represent suspension, (Y) represents colloid.

(B) (X)and (Y) represent true solution, (Z) represents suspension.

(C) (X)represents true solution, (Y) represenis colloid and (2Z) represents suspension.
(D) (X) represents true solution, (Y) represents suspension and (Z) represents colloid.

S0OF

Match Column | with Column Il and select the correct option from the codes given below.
Column | Column 1

(a) Liquid (p) Highly compressible

(b) Gas (q) Definite volume

(¢} Plasma (r) Super low density

(d) Bose-Einstein condensate {s) Super energetic

(A) (@) - (p) (b) - (q), (c) - {r), (d) - (s) B) (a)-(q). (b)-(p) (c) - (r), (d) - (s)

(C) (a) - (q) () - (p). (c) - (s), (d) - (r) (D) (a)-(r) (b) - (p). (c) - (q). (d) - (s)
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40. Choose the correct statement.
(A) Components of air cannot be separated at different heights.
{B) The constituents of air can be separated by physical means.

(C) Airis a helerogeneous mixiure.

(D) Al of these.

BIOLOGY

41. Xylem consists of tracheids, vessels, xylem parenchyma and xylem fibres. One of these components
helps in sideways conduction of water, stores food and is living. Which of the foellowing figures

represents that component?

=

Meristematic tissues of plants Include

(A) Mature fruits, tips of stem and root, cork cambium
(C) Vascular cambium, cork cambium, mature leaves

g

(€) (D)

(B) Stem and root lips, vascular cambium, cork cambium
(D) Tips of mature leaves and mature fruits

43. Match column | with column Il and select the correct option from the codes given below,

Column |

Areas of protected land for

conservation of wild life, plant and

animal resources and traditional life

of the tribals living in the area

Area reserved for wild life where

they can freely use the habitats and

natural resources

{c) Areas where animals are protected
from any disturbance to them and
their habitat

(&) - (i), (b) - (i), (€] - (iii)
(@) - (1), (b) - (i), (<)~ (i)

(a)

(b)

(A)
(©)

The diagram shows a plant cell as seen under a microscope. Match the
functions of the organelles mentioned as a, b, ¢, d, e.

Column Il
(i) National Park

(i) Biosphere Reserve

(iil) Sanctuary

(8) (a)- (@) (b)- (i), (c) - (iii)
@) (&) - (i), (b) - (). (¢} - (1)

Control of entry Keep the o vification yrithesis| 'CDioy and |
of substances | cell clean Faatos h]:hap-l of ull{
(m e a b c | d |
(B) A b ¢ d IR |
(c) c a e b d |
(D) d b a c e
45. Match mlum-n.l-ﬁith_c_nh.l_m; Il and s«¢lect the correct option from the codes given below.
Column | Column |l
(a) Squamous epithelium () Iris of aye
(b) Ceolumnar epithelium (i) Fallopian tube
(e} Cuboidal epithelium (iii) Stomach
(d) Cillated epithelium (iv) Alveoli of the lungs
(v} Internal ear
(vi) Pancreatic duct
(vii) Gall bladder
(A)  (@)-(ill), (b)=(ii, vi), (e)=(1), (d)-(iv, vii) (B) (a)-(iv, v), (b)-(iii, vii), (e)-(i, vi), (d)-(ii)

(€)

Class-9
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46. In which of the given plants there is requirement
of water to complete their life cycle?

(A) (i) and (ii)
(B) (i), (i1} and (iif)
(C) (ityand (i)
i) and (iv .
E1_yan) U] (i) (iii) (iv)
47. Crofolaria juncea, Sesbania aculeata and Cyamopsis tetragonoloba are
{A) Green manure (B) Farmyard manure {C) Compost (D) Mixed in ferfilizers

48. These animals are cold-blooded, have scales and breathe through lungs. They have four-chambered heart.
They lay eggs with tough covering and do not need to lay their eggs in water.
Which of the following animails is referred to in the above paragraph?

(A) (8)

(€ (D)

49. Microorganisms are used for the large scale production of alcohol, wine and acetic acid. X is used for
commercial production of alcohol and wine. The process of conversion of sugar into alcohol Is known as Y.

What are X and Y respectively?
(A) Lactobacillus, Decantation (B) Streplococcus, Distillation
(C) Yeast, Fermeniation (D) Penicillium, Aerobic respiration

50. Which of the following statements are true/false?

(i) Oviparous animals give birth to young ones.

(i)} External fertilization takes place in frog.

(i) An embryo is made up of a single cell.

(iv) Anew human individual develops from a cell called gamete.

(v} Amoeba reproduces by binary fission. (vi) A zygote is formed as a result of fertilization.
{A) (i), (i) & (Iv) are Talse, (i), (v) & (vi) are trus (B) (i) & (iii) are false, (i), (iv), (v) & (vi) are true
(C) (iil) & (iv) are Talse, (i), (i), (v) & (vi) are true (D) (iii) & (v) are false, (i), (i), (iv) & (vi) are true.

5. Xis a phylum. The organisms belonging to X are bilaterally :rmnutr_ir.ﬂ, triploblastic and possess
pseudocoelom. Identify X,

(A) Platyhalminthes (B) Annelida (C) Coelenterata (D) Nematoda

52. SBelect the correct statement(s).
(i) Helicobacter pylori is the causal agent of peptic ulcer.
{Il) Staphylococcus is responsible for acne.
{iil} Trypanosoma causes kala azar. (iv) Leishmania donovani is a bacterium.
(A} (1) and (it) (B) (i) and (i) (C) Only (iv) (©) Only (i)
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53. The given figure shows the carbon cycle in nature. Identify correctly the processes labelled as 1, I, Ill

and IV.
> CO; in water
st R
gom——>
Coal deposits, Aquatic
Volcanic activity organisms
Daath
Green planm—}hnknats—-;mmm]‘
D
I il i v
(A) Photosynthesis Respiration Respiration Decomposition
(B) Respiration Photosynthesis Respiration Decomposition
(C) Photosynthesis Combustion Respiration Decomposition
(D) Photosynthesis Combustion Combustion Decomposition

54. Plants get their nitrogen
(A) By absorbing nitrogen compounds present in the soil (B) By taking in nitrogen gas from the air into the leaves
{C) From dissolved nitrogen gas in the soil water (D) From photosynthesis

55. The given figure shows the position of peptic ulcers. These ulcers cause acidity- related pain and bleed-
ing. Identify the names of these ulcers from the codes given below.

P Q R
(A) Oesophageal Gastric Ducdenal
(B) Gastric Gastric Gastric
(C) Duodenal Oesophageal  Gastric
: (D) Duodenal Gastric Oesophageal
56. Statement!: UV radiation causes photodissociation of ozone into 0, and O, thus causing damage to
ozone layer.

Statement Il : Ozone hole is resulting in global warming and climatic change.
(A) Both statements | and Il are true and stalement |l is the corract explanation of statemant |
(B) Both statements | and Il are true but statement I is not the correct explanation of statement |

(C) Statement | is true but statement 1l is false (D) Statement | is false but statement Il is true
57. Match column | (common name) with column Il (scientific name) and select the correct option from the
codes given below.
Column | Column Il
(a) Feather star (i) Draco
(b) Climbing perch (i) Myla
(¢) Ostrich (iil) Hemidactylus
(d) Flying lizard (iv) Rana tigerina
(e) Tree frog (v) Anabas
(vi) Struthio camelus
(vii) Antedon
(A) (a)-(vil), (B)-(v), (c)-(vi), (d)-(iii), (&)-(iv) (B) (a)-(i). (b)-(v). (c)-(vi), (d)-(i), (e)-(vii)
[Fl (@)-(vii), (b)-{v), ;ﬂ-f'f_l'}_-_l:d!'-ﬁ}- (e)-(i) (D) (a)-(1), (b)-(i), (c)-(iii), (d)-(iv), (e)-{v)
58. Which of the following is not a green house gas?
(A) Sulphur dioxide (B) Methane
(C) Carbon dioxide (D) Nitrous oxide
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59, Labeo and Catla are
(A) Fresh water fishes (B) Marine fishes
(C) Brackish water fishes (D) Al of these

60. Statement!: Chemical pesticides are more hazardous as compared to biopesticides.
Statement Il : Chemical pesticides are mostly non specific and pollute the atmosphere.

(A) Both stalements | and || are true and statement Il is the correct explanation of statement |
(B) Both statements | and Il are true but statement |l is not the correct explanation of statement |
(C) Statement | is true but statement Il is false
(D) Statement | is false but statement Il is true

1 1 1 1 1 1 1 1
1. Thevalueof 3. 75 * 75,5 * Tadd * TA+d8 " (Bede " VBeaT ' iadh  Jaea
(A) O (8) 1 C) 2 (D) 4
_a .
n ki - n
g2, Iif 9_%3 *@B2)°-@7) _ 1 thenm-nis
3¢ . 2? 27
(a) 1 (B) 2 (C) 3 (D) 4
40

63. Evaluate 5 7o 50, /40 _ 2.5 _ Jso “hen itis given that J5 =2.236 and /10 = 3.162
(A) 10.796 (B) 10.976 (C) 10.679 (D) 10.769

64. Find the value of k if (x — 1) is a factor of 4x* + 3" — 4x + k.
(A) 3 (B) -5 (C) 5 (o) -3
DIRECTION (65-66) : Study the following graph and answer the given questlions :

Result of Annual Examination
in a High School

80

- Number of girls
- % Number of boys
HE E
=
] —
Vi il
Standard
65. In which standard is the difference between the results of girls and boys maximum 7
(A V _ (8) wvi (€) X {_D] Wil
66. In which standard is the result of boys less than the average result of the girls?
(A) Vil B) I1X (C) W 0y v
S0OF [‘i_.u] Class-9




67. The taxi fare in a city Is as follows : For the first kilometre, the fare is ¥ 10 and for the subsequent distance
itis T 7 per kilometre. Taking the distance covered as x km and total fare as T y, a linear equation for this
information is +
(A) Tx+y+3=0 (B) 7x—y+3=0 {C) Tx+y-3=0 D) 7x-y-3=0

68. Which of the following is Euclid's axiom?

(A) The things which coincide with one anolher are not equal to one another.
(B) If equals are subtracted from equals, the remainders are not aqual.
(C) The whole is greater than the part. (D) None of these
69. Study the given number series :
TBOT6534288097245929764°7
How many 7's are preceded by 9 and followed by 67
(A 2 ® 3 (€) 4 (D) 5
T70. If 2¢ = 3% = §°, then 1-1-1- 1 is
z x y
{A) Tre {B) False . [C) Can't say (D) Datais insufficient
71. Find the value of .«:r:52-"'9--"‘-?"-"E i
a-T a-=T
A -108 B) 88 (C) -84

72. Agame of chance consists of spinning an arrow which Is equally likely to come
to rest pointing to one of the number, 1, 2, 3, ...., 12 as shown in figure. What
is the probability that it will point to mulliple of 4.

Ll ki
A 2 ® 3
1 1
© 7 O s :

73. Awooden article was made by scooping out a hemisphere from each end of a solid cylinder, as shown
in the figure. If the haight of the cylinder is 10 cm, and its base is of radius 3.5 cm, find the total surface
area of the article.

(A) 280 cm?

(B) 72.68 cm?

(C) 195.46 cm?

(D) 374 cm? i _

74. The measurement of a window is 3.6 m x 1.8 m. If 6 doors are to be fixed in that window in two rows,
measurements of each door should be i
{A) 120 cm = 20 cm (B) 60 cm = 6O cm (C) 24 cm = 18 cm (D) 240 cm = 1B0 cm

75. In the given diagram the triangle represents doctors, the circle represents players and the rectangle
represents artists.

Which numbered space in the diagram represents doctors who are also @ 3
players and artists? P
(A) 2 (B) 3 2
1
© 4 | ©) 5
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76.

In parallelogram ABCD, AB = 12 cm. The altitudes corresponding to the sides AB
and AD are respectively 9 cm and 11 em. Find AD.

Ji
E!
i

108 108
(A) 5 em 8) g o™ Z
N

;

a9 10
(€ j5°m (D) ‘1'?‘?“'" u!_u e

If P denotes 'x', T denotes "', M denotes '+' and B denotes "+', then the value of the expression
28BTPEBTEMAB2PB will be
23

w5 (8) 42 © 2 ©

78.

In figure, if /|| m, m||no=(3p+5)"and8=(2p)" thenfind x + y + 2+ w + . ¢
(A) 390° X
®) 20
(€) 360° n
D) 180°

—

v
3

8.

82.

(A)

83

84,

SOF

If abc = 1, then

=4 -1 -1
(1+a+-1] +[1+b+1] +[1+c+1] =
b c a

@ 1 (B) 0O () -1 (D) Not definad

The average of n numbers x,, x,, x,......... . X_is A. i x, is replaced by (x + a)x,, x, is replaced by (x + a)x,,.....
then the new average is

nA +(n + 1)x, (ne DA+ x,

(A) (x+a)A iy e (€) = (D) -
Between two rational numbers

(A) There is exactly one rational number.

(B) There are exacly two rational numbers.

{C) There are infinitely many rational numbers.

(D) There are only rational numbers and no irational number,

In an experiment, a coin is tossed 500 times. If the head turns up 280 times then the experimental probability
of getting (i) a head (ii) a tail is
14 1 11 12 12 10 9 1

25'25 ® 2020 € 2525 @ 2525

fN= "'E}i; 4:’3-2 -4/3-2/2 then N equals to

(A 1 8 2J2-1 (€)

% (D) Al of these

If *a’ and "&' are rational numbers and zf-"-ﬁ =a+bJ3 ythen b=

2-J3
(A) 4 B) 7 (€) & (D) B
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85. In the adjoining figure, NPQR is a rectangle. N, 4

What is the length of NQ (in units)? e b
(&) 1 unit \
i\ g
(B) 3 units * KN,
v -
(©) 7 units
(D} 14 units R Q

86. A spherical ball of lead, 3 cm in diameter is melled and recast into three spherical balls. The diameter
of two of these are 1.5 cm and 2 cm respectively. The diameter of the third ball is

(A) 2.66 cm (B) 2.5cm (€) 3cm (D) 3.5cm

87. Point of intersection of the lines x + y = 1 and Zx + 2y = 4 is/are
A (1.1) B) (2.2) (C) Nointersection point (D) Many poinis

1
B8. A swimming pool is being filled with water at a rate of 25 cm/minute. The owners started filling the pool
at 6:00 a.m. What time was it when the water was 2 metres 7

(&) T:10a.m. B) 7:20am. (C) 7:30a.m. (D) 8:00am.

89. The altitude drawn to the base of an isosceles triangle is of length 8 cm and the perimeter is
32 cm. The area of the triangle is

(A) 32 em? (B) 40 cm? (C) 48 cm’ (D) 56 cm?

90. Asum of money becomes T 6690 after three years and T 10, 035 after six years on compound interest. The
sum is
)5 5400 \B) L4450 {b) K490 ) Sdem

91. Conical glass in figure is filled with soft drink upto the brim. The quantity
of soft drink required to fill 30 such glasses is
(A) 38L
(B) 385L
(C) 451L
(D) 256 L

92. Inthe figure AB= AC, CH= CBand HK || BC. If the exterior angle CAX is 140°, then
the angle HCK is :

(A) 45° | 70
€y 1o° (o) 30"
93. In figure, AB || CD, find angle x.
A F B8
155°
g D
(A} 20° (B) 25° (C) 30° (D) 35°
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a4. Atriangle and a trapezoid are equal in area. mammmMm |f the base of the triangle
is 18 inches, then mean of parallel sides of the trapezoid is

{N Sﬁ’rnnhes {B} Eincms tl:} 1E1ndm tm Dmnmuﬁ‘t:ianl

95. The diagram below shows the cross section of six identical marbles huchinn each other on a horizontal
surface. If the volume of a marble is %cm calculate the length of PQ, in cm.

o sl N UNZNT
{C) 18cm {D} 36 cm PC Q

96. The mean of the data x,, X,, .. X, h‘lﬂ!,tlwnmnnfuudlhﬁz,,h,.... 5x is
(A) 102 (B) 204 {G’l' ﬂﬂﬁ (D) 510

3+45 1
o7. fa=""7—" then ':+F-

w14 ® 10 ©7 Mmmm

g8. Which is always a correct conclusion about the quanhﬁn in the cquuﬁnn y=x+4a?
(A) Itislinear equation in two variable.
(B) When the value of x is negative, the value of y is also negalive.
(€) The variable yis always less than x.
[m As the valuu uI X in-:raasna 'lhe value of ydaﬂam

99, Rohan ranks -ighth from the top and thirty-eight from the bottom in the class. How many students are
these in the class 7
= (A) 46 (B) 49 o (C) 45 (D) 38
100. The mean, median and mode of the following numbers
7.4,3, 56 3,324, 3,4,3,3,4,43, 2,2,4,354,3, 43431230 ——-
(A) 3.47,3,3 (B) 3. 3 3 {c} 4,33 (D) 54.3

EFME FOH RDUGH WORK
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